MARKING SCHEME

CLASS - XII (2023-24)

ACCOUNTANCY (903)
QNo. | Questions Marks
1. | (AT A9 Fede & AqUTd § grAerd & At G Smar 1
(A) Distributed to the partners in old profit sharing ratio
2. | (D) Profit and Loss Suspense A/c SRUUSSURRRNN b | o 1
To Deceased Partner's Capital A/c.
3. | (B)@gT @TAT (Realisation A/c) 1
4. | ATAET ATATIH 1932 (Partnership Act 1932) 1
5. | S T F A FN TAT T, AT HASH F GG TL [G ATASET BT AN AGA 36 [ | 1
FATT F FRTET AT
Unless otherwise stated, the sacrificing ratio of old partners on the admission of a new partner shall be
equal to their old ratio.
6. (A) (A)TIT (R) Tl FF g T (R)FIT (A)Hl Tl ATESAT Bl 1
(A) Both (A) and (R) are true and (R) is the correct explanation of statement (A).
7. | (A)TAT (R)IET I § T (R)FAT (A)F AT ATEAT 2 1
(A) Both (A) and (R) are true and (R) is the correct explanation of statement (A).
8. | e Ui A7 ATHHTT #T YST (Registered or Nominal Capital) 1
9. (i) =T T T F @awor i (i) T@T T 1
(i) Statement of Profit and Loss and (ii) Balance Sheet.
10. | (C) 4:2:3 1
11. | F€ 9T T FFOAT T A g qr BT A TAga F w7 H g gfasfad F Afaiih o 2

AT @R AT F w7 F T AT 2 AW AAAT AT F A F AT A oFom F
RUETAT AIAT HEQ00 R F TSl Ugd df go Iagid & aga Far g e au =& & ou
Fg FHEIAT FT WAL a9 AT 2

Many times when a company takes a loan, it gives debentures as collateral security in addition to the

principal security as security for the loan. In case of default in payment of interest or principal, the lender

first recovers his entire loan and interest from the principal security and becomes the debenture holder
of the company for the remaining loan.




PROFIT AND LOSS APPROPRIATION ACCOUNT
Cr.

12.
Dr. Jor the vear ended 31st March, 2025
b Paficuars ] ®  Particulars % 51
To Interest on A’s Capital [ By Profit & Loss A/c !
(4/7 of 1,40,000) | 80,000  (Net Profit) 1,40,000
To Salary to B (3/7 of 1,40,000) 60,000 | .
}1,_46,000 J J 1,40,000
Waorking Note : B T
Interest on A's Capital = 10% on Z24,00,000 2,40,000
Salary of B = 215,000 x 12 1,80,000 1
4,20,000
Since available profit is only ¥1,40,000 which is less than appropriations of ¥4,20,000,
profit will be distributed in the ratio of appropriations to be made :
Interest on Capital 2 Salary
Or 2,40,000 : 1,80,000
Or 4 3
OR 34T
() Pt AT FTT o # A G A A o
(YR L 1 e A R B A e B o M 2 2 e B e M B 1 1 e K
(i) When a partner invests more capital in the firm, and
(ii) When a partner permanently withdraws capital from the firm with the consent of the other partners.
13. Goodwill = Super Profits x 4 year’s purchase %
24.000 =  Super Profits x 4
Super Profits = a’-‘:—)@ = 36,000 %
Normal Profits — capital Employed" x Normal Rate of Return
100
= 75,000 x 2 = ¥7.500
’ 100 . %
Super Profits = Average Profits — Normal Profits
Hence, Average Profits =  Super Profits + Normal Profits
= 6,000 + T7,500 = T13,500.
- . . 1,
Capital Employed (or Net Assets) = Assets — Liabilities. %
OR 34T
(i) 2T T Faems=s eI, (i) Tove & paadr
(i) Convenient location of business, (ii) Efficiency of management
1+1

14. | JOURNAL




Date Particulars L.F Debit (Rs.) Credit (Rs.)
1. Bank A/c Dr. 1,80,000
To Premium for goodwill A/c 60,000
To C’s capital A/C 1,20,000 Y
(being amount of goodwill premium brought
in cash)
2. 60,000
Premium for goodwill A/c Dr.
60,000
To A’s Capital A/c 1
(being Transfer of premium for goodwill to
sacrificing partner’s in sacrificing ratio)
Calculation of new profit sharing ratio : C takes 1/4™ share out of 1.
Thus, the remaining profit is %, this is divided equally between A and B.
A’s new share =% x % =3/8
iz
B’s new share =% x % =3/8 ’
Sacrifice made by A=5/8 —3/8=2/8
Sacrifice made by B=3/8-3/8=0
15. (i) Sufrt sfiT FrE<al & oA UT SO+ g9 Al gr+ 1+1
(i) TEa& § fe@re T =& & aqaad § Ia&7 gedr |
(i) his share of the loss on revaluation of assets and liabilities;
(ii) his share in the write-off of goodwill shown in the books.
16.
Date Particulars Debit Credit
(Rs.) (Rs.)
Share Capital A/c 7,000 %
.............. Dr.
To share first call A/c
2,000
To share forfeiture A/c
5,000
(Being forfeiture of 1000 share )
Bank A/c Dr. 2,400
Share Forfeiture A/c s Dr. 1,800 y
2
To Share Capital A/c 4,200




(Being 600 shares reissued @4 per share)

1
Share Forfeiture A/c Dr. 1,200
To Capital Reserve A/c 1,200
(Being forfeiture money transferred to capital reserve)
Working note:
Forfeiture amount on 1000 share = Rs. 5,000
Therefore, Forfeiture amount on 600 share = Rs. 5000/1000 X 600 = Rs. 3,000
1
Less: Loss on reissue =Rs. 1,800
Transferred to Capital Reserved Rs. 1,200
17. e W - wf ) SgEh E A S & 9 w2
Dr. REALISATION ACCOUNT cr | 72%6=3
g Particulars T Particulars ' . ;.,__
To Assets 5,00,000 By Liabilities 1,00,000
To Bank (Liabilities paid) 1,00,000 By Bank (Assets realised) 420,008
To Bank (Expenses of realisation) 5,000 By Capital A/cs
(Loss on realisation) 85,000
50 |
18. Books of Venus Ltd.
. JOURNAL ‘ g
Date | - ey e LF.| Dr.(X) | Cr(R)
() Sundry Assets A/c Dr. 10,00,000/ 1.80.00
To Sundry Liabilities A/c -,’60'000 1
To Cayns Ltd. % 0'000
To Capital Reserve A/c (Balancing figure) 60,000
(Business purchased from Cayns Ltd.)
(i7) Cayns Ltd. Dr. 7,60,000
Discount on issue of Debentures A/c Dr. 40,000 1
To 9% Debentures A/c 8,00,000
(8,000, 9% Debentures of T100 each issued at a
discount of 5%)
Statement of Profit and Loss (Note 2) Dr. 40,000 v
To Discount on Issue of Debentures A/c 40,000

(Discount on issue of debentures written off)




Working notes:

(1) Number of Debenture issued =7,60,000 + 95 = 8,000.
(2) As per new guidelines, Capital Reserve cannot be used for writing off Discount/Loss on Issue of
Debenture.

19.

TABLE SHOWING ADJUSTMENT

Ly e e e 285 .
E‘ T e e | o ,
FoN | i 7 ! ? ! ! ]

, t L4 :
Interest already crediteq @ 9% 16,200 5400 10,800 32,400
tnterest that should have been credited @ 10% | 18,000 6,000 12,000 36,000
Partners less credited with 1,800 600 1,200 3,600
By allowing this interest, the profits of the

firm will be reduced by ¥3,600. This loss will

be divided in the ratio of 2 - | : 2, 1,440 720 1,440 3,600
Net effect Cr. 360 Dr. 120 Dr. 240 |
ADJUSTMENT ENTRY N
Date Particulars LF. Dr. (3 Cr. (%)
2022
April 1  B’s Current A/c Dr. 120
(s Current A/c Dr. 240
To A’s Current A/c 360

(Interest less charged on capital, now rectified)

OR 4T
1. Debit of Current A/c.
2. Credit of Current A/c.
3. Credit of Current A/c.
4. Credit of Current A/c.
5. Debit of Current A/c.

6. Credit of Current A/c.

%x6=3




JOURNAL

20.
= Bade Particulars LF. Dr ) o @)
Reserve Fund A/c Dr 30,000
To Kanu's Capital A/c 6,000
To Manu's Capital A/c 9,000
To Akansha’s Capital A/c 15,000
(Reserve Fund transferred to Capital accounts)
Manu's A/c Dr. 30,000
To Kanu's Capital A/c 30,000
(Kanu's share of goodwill transferred to Manu’s
Capital A/c) )
Dr. KANU’S CAPITAL ACCOUNT - (.:r_
Particulars 3 Particulars 4
To Kanu's Loan A/c By Balance b/d 1,00,000
(Balancing figure) 1,36,000 By Reserve Fund 6,000
By Manu’s Capital A/c 30,000
1,36,000 .3&@
21. Revaluation Account
Particulars Amount Particulars Amount 1.5
To Patents 2,000 By Provision for Doubtful debts 2,000
To profit Transferred to: By Typewriter 2,600
A’s Capital A/c 2,000 By Provision for discount on Creditors 400
B’s Capital A/c 1,000
5,000 5,000




Particulars A B C Particulars A B C
To Balance c¢/d 60,000 35,000 - BY Balance b/d 40,000 30,000 -
By Reserve Fund 8,000 4,000 -
By Revaluation 2,000 1,000 -
By Premium for
Goodwill .
10,000 -
1,42,000 1,18,000 - 60,000 35,000 -
To Balance C/d 60,000 35,000 19,000 By Balance B/d 60,000 35,000
By Bank - - 19,000
60,000 35,000 19,000 60,000 35,000 19,000

Partner’s Capital A/c

1.5




Balance Sheet

as at 1% April 2022

Liabilities Amount Assets Amount
Capital A/c Machinery 33,600
A 60,000 Building 25,000 1
B 35,000 Stock 20,000
C 19,000 1,14,000 Bank 14,000
Creditors 20,000 Sundry debtors 40,000
Less: Provision 400 19,600 Less: Provision 1,600 | 38,400
Typewriter 2,600
1,33,600 1,33,600

Working notes:

C's capital is not given in the question. He will bring capital according to his share of profit. C's share
in the profits is 1/6. A and B are shareholders in the remaining 5/6. After all adjustments, A and B's

capital is Rs. 60,000 + Rs. 35,000 = Rs. 95,000. 1
If capital for 5/6 part =95,000
Then capital for 1 part =95,000 x 6/5 = 1,14,000
Therefore, capital for 1/6 partis =1,14,000 x 1/6 = 19,000
Calculation of bank balance :
Goodwill brought in cash by C 10,000
Capital brought in cash by C 19,000
29,000

(-) Bank overdraft 15,000
Balance in bank 14,000

OR 4T
1. 997 a9 A ST AT AT 1x5=5

2. ST T AGTHA TGN

3. gt U IRl F AHediEd 6 (U dEihT Sagi

4. 59T UF HAT ATAI T AGRA TGN

5. 912l AT AT #iT AU AT-A9SE aqurd § /9T FwA




1. To find out the new profit sharing ratio.

2. Accounting treatment of goodwill

3. Accounting treatment for revaluation of assets and liabilities

4. Accounting treatment of reserves and accumulated profits

5. To adjust the capitals of partners as per the new profit sharing ratio.

22.

To calls in arrears A/c

(Being 4000 share forfeited for non payment of

JOURNAL
Sr. No. | Particulars Debit Credit
Bank A/c SR b | 34,00,000
To Equity Share Capital A/c 34,00,000
(Being application money received)
Equity share Application A/c  ............ Dr. 34,00,000
To Equity share capital A/c 24,00,000
To Equity share allotment A/c 6,00,000
To Bank A/c 4,00,000
(Being shares allotted and balance refunded)
Equity share allotment A/c ... Dr. 51,00,000
To Equity share capital A/c 36,00,000
To securities premium reserve A/c 15,00,000
(being share allotment money including premium
due)
BankA/c e, Dr. 42,00,000
Calls in arrears A/c reeverrennnn DI 3,00,000
To Equity share allotment A/c 45,00,000
(being allotment money received)
Equity share capital A/c ... Dr. 4,00,000
Securities premium reserve A/c  .......... Dr. 1,00,000 2,00,000
To share forfeited A/c 3,00,000

1/2

1/2

1/2

1/2

1/2




allotment including premium)

Bank A/c R |
Share Forfeiture A/c
To share capital A/c

(Being forfeited share reissued at Rs.14 per share)

Share forfeited A/c Dr.
To Capital Reserve A/c

(being share forfeited money transferred to capital
reserve A/c)

2,40,000

60,000

90,000

3,00,000

90,000

1/2

%

Working Notes:

(1) Pro-rata allotment has been made in the ratio of 5: 4. It means 60,000 shares have been allotted

to the applicants of 60,000 x 5/4=75,000 shares.

(3)(a) Total Number of shares applied by Anand = 4,000 x 5/4 = 5,000 shares

Excess application money received :
5,000 shares-4,000 shares = 1,000 shares x 40 = X40,000

(b)
Allotment money due from Anand = 4,000 x 85

Less: Excess received on application stage
Allotment money not received

(c) Total amount due on allotment: 60,000 shares x 85
Less: Excess received on application

Less: Amount not received from Anand on allotment
Net Amount received on allotment in cash

(3) Transfer of Capital Reserve :

Forfeited amount on 4,000 shares =%2,00,000
Hence, Forfeited amount on 3,000 shares =2,00,000 x 3,000
4,000
Less: Loss on Reissue =3,000 x 20

Transfer to Capital Reserve

OR 4T

e ATE FT qF g A Ay A7 Fedar hdr Fuer & o

R

3,40,000

40,000
300000

51,00,000
6,00,000
45,00,000
3,00,000
42,00,000

1,50,00

60,000

90,000

(FY) ThET

F T smaes #% TET B FUA g e AN (9T AT #AT) #E 6 4TE,

15

1+4=5




e sfet & U Af9Ee  (smEEd) w7d §, SEa Fuer & G T kT gl

yfia i ma e sfaea o T

— ’ ) of -.“
stwif @ aeq wfim
(Undersubscription of Shares)

7q TN H S I AAEA fay
MU 3y IR wEATAd (Offer) fam

L E i [f astont & afirss s
(Oversubscription of Shares)

. awmafm oW ¥g T § s g amAed
My 3iM IR wEEa (Offer) fwu

(Shares

Applicd) o sivl # wem A afyw g &1 T S ) Hem A wm s #)
2. smAEw www Wi amaEE ® @R TE@ fEm aft s #1 g0 ' 3 =ien
Loe am ¥ WM A T B wEwER o
(Acceptance of fam st ¥ Ny sl w0
Applications) sIfd® (pro-rata) sreeq fam
Sl
3. fersm smagw wnfysm smaga ofw N o @ Fifes gt F1 i 5w smEfea
ofer &t Aot =fuw fam W@ @ s AEes fau 9w € e aftg &9 9y
(Refund of @ A H marifaa fEm wmm snfusg ufer 2t & 7 2
Excess 2
Applicaton
money )
tmaﬁmwmmﬁamﬁaﬁwgamﬁmaﬁm
(Minimum sty (e ofe &1 90%) #t  sfvem Y wwen #1 @ s
Subscription) ~ WHEN F1 WHAI TE HTN UM UL THAT 21
t
Basis Over-Subscription Under-subscription
1. Shared applied Shares Applied In this case, In this case, the number of
the number of shares applied shares applied by the public is
by the public is more than the | less than the number of shares
number of shares offered. offered.
2. Acceptance of All applications are not All applications are fully
Application accepted. Some may be accepted.
rejected or shares are allotted
on a pro-rata basis.
3. Refund of Excess The excess application money | Since all applicants receive full
Application money is either refunded or adjusted | allotment, there is no excess
in allotment or future calls. amount to be refunded.
4. Minimum Subscription | The company does not face The company may face
any issue regarding minimum difficulty in receiving minimum
subscription (90% of issued subscription.
capital).

23.

ot fEawor SR wtar & sfvaw afoomew g ag GRlt sraamr f araraa




(Profitability) TaT fa<ita fRafd  (Financial Position) F o # JM*ET Y& #<d 2|

Ans. Financial statements are the end results of the accounting process. They provide information
about the profitability and financial position of a business.

24,

(D) @Eifhd 92T (D) Recorded Facts

25.

g% Mg § FHT FT MW qX T Thal Yarg f@Fawor * siavg fa<hg afafafaat &
JAT THal dlgalg & ®T § avigd a1 Smar 2l

A decrease in a bank overdraft is generally classified as a cash outflow under financing activities
within a statement of cash flows.

26.

(A) (A)TIT (R)TET T g T (R)FIT (A)FT Tgr =ATEAT Bl
(A) Both (A) and (R) are true and (R) is the correct explanation of statement (A).

27.

gATAT =T operating expenses

28.

(i) M-I % Ao § =T Y= HAT |
(ii) o=t feufa & Bor & =91 y'W= Fm
(i) To provide information about profit and loss.
(ii) To provide information about financial position.

1+1=2

29.

Cost of Revenue from Operations = Revenue from Operations - Gross Profit
=%6,00,000-25% of 26,00,000
=%6,00,000-%1,50,000 = %4,50,000

Inventory Turnover Ratio = Cost of Revenue from Operations

Average Inventory
3 (Given) = 4,50,00
Average Inventory

Average Inventory =%4,50,000/3 =1,50,000

Opening Inventory + Closing Inventory = Average Inventory x 2
=%1,50,000 x 2 = X3,00,000

Since Opening Inventory is 25% of Closing Inventory, ratio between Opening Inventory and Closing
Inventory will be 25: 100 Or 1:4

Opening Inventory = X3,00,000x 1/5 =X 60,000

Closing Inventory = X3,00,000 x 4/5 = %2,40,000

OR 34T
Inventory Turnover Ratio = Cost of Revenue from Operations (Cost of Goods Sold) = ......times
Average Inventory

%

Y

Y

1+2=3




EE AR T L A s T F A A M s L o O - 1 B e R o L I
gfvafdd 2l ¥@r gl =9 aq9Td ¥ g 21 &1 A% g & a1 a1 =% ¥ 7 @A ¥
IAAT BT AT § HATAd GRATSl ¥ NI 2T YT g oMaT i # foAr i w o d=red
ERLE I B R e 2 e L 1 - A

Inventory Turnover Ratio = Cost of Revenue from Operations (Cost of Goods Sold) = ......times
Average Inventory

A high stock turnover ratio shows that the stock is being converted into revenue from operating

activities at a faster pace. An improvement in this ratio means that either the same amount of

revenue is being generated from operating activities with less investment in stock or the amount of

revenue from operating activities has increased without any increase in stock.

Calculation of Cash from Investing Activities

Particulars it i Amouns
4
Sale of Plant and Machinery 40,000 2
Sale of Land (See Note 1) 1,60,000
Purchase of Plant & Machinery (See Note 2) (2,60,000)
Purchase of Non-Current Investments = (60.000)
Net Cash flows from Investing Activities (1.20.000)
; i Note No. 1
et aBAE ;
= =3 e ——— — r
BT | Amows | Particwlars Ty
S — == z . T = 1.5
To. ek b/d 2.00,000 By Bank A/c (Sa?lc of Land)
To Gain on Sale of Land A/c 60,000 (Balancing Figure) - 1,60,09q
By Balance ¢/d 1,00 000
2.,60,000 2,60,00;
Working Note Nao. 2 X
Dr. PLANT & MACHINERY A/C (On Written Down Value Basis) Cr.
Particulars Amount Particulars ¥ Amouns”
z T
To Balance b/d 8,50,000 By Depreciation 50,000
To Bank A/c By Bank A/c (Sale of Machinery) 40,000
(Purchase of Machinery) By Loss on Sale of Machinery 1.5
(Balancing Figure) 2.60,000 Alc 20,000
By Balance c¢/d 10,00,000
11.10.000 11,10,000

OR 4T
Ig TH o safyr & F0H ke UF S Hﬂw (Cash equivalents) & #&Tal (Inflow or
Sources) TIT ITANT  (Outflows or uses) FT fa=awur %’I
g vaTg fFEwer 1 =Jw HiEmr 1+4=5
1. AT FT 919 FA & O IUqh T8i |
2. IO REM@EE & qE9EET |
3. T - d%al FAEN Hl AdgaAdl |




4., FGIHA F IUATSA M AT FTZAAT |

It is a statement of the inflows or sources and outflows or uses of cash and cash equivalents during a
particular period.

Four limitations of the cash flow statement:
1. Not suitable for judging the liquidity
2. Possibility of window dressing
3. Itignores non-cash transaction
4. ltignores the accrual concept of accounting

COMPUTERIZED ACCOUNTING

23 Data, Report, Ledger, Hardware, Software. (any two) % marks
each
24 (i) Accounting transactions % marks
" . each
(i) Accounting software
25 (C) Assets, Capital, Liabilities, Revenue and Expenses 1
26 (C) Column between start and end points of Excel sheet 1
27 (C) Data is not made available to everybody. 1
28 Sequential codes:- Sequential codes are those codes in which the numbers or letters are arranged in | 1
a consecutive order.These types of codes are mostly applied in source documents such as cheques,
invoices.
It also helps in document search by tracking a relevant document based on the code or by identifying
the missing codes in a document based on the numbers.
Mnemonic codes:- Mnemonic codes are those codes that consist of alphabets or abbreviations as
symbols for codifying a piece of information. E.g. HQ for headquarters, DLI for Delhi in train
bookings. 1
29 A graph is defined as a diagram or a pictorial representation that represents the interrelation 1
between data or values in an organized manner.
The three advantages of graphs are as follows: (any two) 141
1. It makes data presentable and easy to understand.
2. It helps in summarizing the data in a crisp manner.
3. It helps in the comparison of data in a better way.
OR
Types of vouchers (any three):
(i) Contra voucher: Used for fund transfer between cash and Bank A/c only. This voucher is used if 14141
+1+

cash is withdrawn from Bank for office or deposited in the Bank from office.




(ii) Receipt Voucher: All the inflow of money is recorded through receipt voucher. Such receipts may
be towards any income such as receipts from Debtors, loan/advance taken or refund of
loan/advance etc.

(iii) Payment Voucher: All outflow of money is recorded through payment voucher such payments
may be towards any purchases, Expenses, due to creditors, loan/advance etc.

(iv) Journal Voucher: It is an adjustment voucher, normally used for non-cash transactions like
adjustment between ledgers.

30

The error is #NUM! Error. The steps to correct it are:

1. Optionally, click the cell that displays the error, click the button that appears and then click
show calculation steps.

2. Review the following causes and solutions: Using an unacceptable argument in the function
that requires anumeric argument. Make sure that the arguments used in the function are
numbers. Using a worksheet function that iterates, such as IRR or RATE, and the function
cannot find the result. Use a different starting value for the worksheet function.

3. Then click the Microsoft button > Excel option and then click the formulas category.

OR
Payroll in Excel
SUM - X « K =SUM[F2:F6)
A B C D E F
Total Total
ot Overtime/ e ?
Employee Name Pay/Hour Hours Hour Overtime Gross Pay
1 Worked Hours |
2 Mathew Roy 20 160 30 10 3500
3 Rogger Peng 30 140 40 20 5000
4 Ram Prakash 20 155 30 10 3400
5 Tom Furlan 25 148 35 40 5100
& Ronnie Brook 30 160 40 20 5600
7 m 763 100 ESUM(F2:F6)
8




